3.

4.

ba.

6a.

5 2 2

=2—c+22+c: 5
2 2 2
sla — ) = 24— ) + ;24— &)
5(4 - cB) =22 + ) +2(2 - 0¢)
20 —5¢° =8
~5¢% = —12
Crdlb

The average speed of the current is 1.5 mi/h.

1 1 _
21—0(11) + 5(11)1— 1
5(11)(20!7) + F“ 1)(20h) = 1(20h)

11h + 220 = 20h
220 = 9h
24 = h
It will take Remy about 24 min to mulch the garden
when working alone.

3<x<4 b.
EEEELY RS
B 8 o L ER R |
- ‘ ‘4__ N ‘_;‘
=8 —4 0L 4 sﬂ
. }

._4.“.
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THINK AND DISCUSS

1. Possible answer: The LCD is a multiple of each
denominator. Therefore, each denominator is a
factor of the LCD.

2. Possible answer: When you multiply both sides
of an equation by a variable expression, you may
produce an equation with solutions that make
denominators of the original equation equal to 0.

3. Possible answer: (1) Graph each side of the

inequality. (2) Multiply both sides by x and consider
two cases, x is positive or x is negative.

4. Possible answer:

Definition:
equations that contain rational expressions

Characteristics:

can be solved by multiplying both sides
by the LCD of all the terms in the
equation; may generate extraneous
solutions when solved

Rational
Examples: Equations Nonexamples:
exercises D, b0H,# 2-10, 19-2%,
GU{DED PRACTIC.E 36 - ,{,3} 6@ 6 6]

}I: Possible answer: An equation is a statement that
2 expressions are equal. A rational expression is
a quotient of 2 polynomials. A rational equation

6 oo - . \U. contains at least 1 rational expression.
2 .»?'//21 2 _ 17 3.7=1_4
LCD is positive. LCD is negative. 'E"’T—E T w_1
B o) Bl ) s Blyge o B i Ligy + 28 =1Lgy (W) =7(W) —4W)
x—2 X—2 8 t 8t Tw=1—4w
6= —4x+8 6<-—4x+8 t+16 =17 11 B
4x=2 4x<?2 it = 4
x=L x< L =11
=% S5 11
x—2>0 x—2<0 4. 1 __T7
X>2 x<ip r—5_ 2r
Solution in this case is Solution in this case is ( 1 )2,-(,—_ B (1)2,,(,_ 5)
X2 e r—=5 2r
Sigh 2r=7(r—5)
The solution to the inequality is x < %orx > 2. 2r= _7/r— 35
F=
9
. X+ 3 <6 5 J_:.).(.._:‘:_’..
LCD is positive. LCD is negative. X 6 6 i . g
I (x+3)<6(x+3) ——(x+3)>6(x+3) 5% =g\6a — gl
x+3 x+3 B i
9<6x+ 18 9>6x+ 18 o5 6:0
—9 < Bx -9 > 6x — X+ 8=
3 3 (x—6)x+1)=0
XK= X< =5i x—6=00rx+1=0
Xx+3>0 x+3<0 x=6o0orx=—1
X> =3 x< =3 12 1
The solution in this case  The solution in this case 6.m+-m=7 7. k+ T 2
sx>-3 ls x < =3, mim) + 5 m) = 7m) k) + L9 = 24
2
The solution to the inequality is x < —3 orx>—§. o m-+12=7m K+ 1 =2k
2 m*—7m+12=0 K —2k+1=0
(m—-3m—-4)=0 (k=12 =0
m—3=0ocrm—4=0 k—1=0
m=3orm=4 k=1
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8.

T x

10.

7

@

‘N

13

x__ 4
37 x+2
X 4
)3{x+ 2) + (5)3(x+ 2) = (x+ 5
—Bx+ x(x+ 2) =12
X —4x—12 =0
(x—86)(x+2) =0
Xx=6orx=-2
The solution x = —2 is extraneous.
The only solution is x = 6.
6x

—2X
X+ 2
( —2X

Xt )3(x+2)

X X __BX
3+2 2x—6
(2x 6) + 2x~6) 2—6
2x+x(x—3)-6x
£ -7x=0
xXx—7)=0
x=0o0rx=7
3 s Jus 3
X(x+1) 4+ x

3 - _
T e+ 1 = e ) _(

X

———(2x — 6)

3—x(x+1)

x(x+ 1)

x=00rx=—

Both solutions are extraneous.
Therefore there is no solution.

60 60
8—c 8+4+c¢
16.5(64 — ¢?) = 850

3
0

—_

16.5 = +

60
8+ ¢

16.5(64 — c?) = 60(8 + ¢) + 60(8 — o)

1056 — 16.5¢% = 960
—-16.5¢% = —96
c=+2.4
The average speed of the current is 2.4 mi/h.
This is close to 2 mi/h, so the barge would take

60 mi
about B 2 milh’ or 10 h, to travel upstream
60 mi
8 + 2 mith’
The trip should take about 16 h, which is close to

the given time, so the answer is reasonable.

(64 — ¢ + (64 — c?)

and about or 6 h, to travel downstream.

4 Ay =
£5(30) + 7;(30) = 1

1-(30)(50m) = 1(50m)
30m + 1500 = 50m
1500 = 20m
Ths=
The job will take 75 min if the Iarge copier is broken

— R

ol
25 (30)(50m) +

5<X<O

55(\“\

1€

19.

310

o x

x<0orx>1

X+ 1
LCD is positive.
4 (x4 1)<ax+1)

+1
4<4dx+4
0 < 4x
b G i

X+1>0

x>—1
The solution in this case
is x> 0.

LCD is negative.
4
4 1
o 1<X+1)> (x+ 1)

4>4x+ 4
0>4x
x<0;

x+1<0

x< -1
The solution in this case
is x< —1.

The solution to the inequality is x < —1 or x > 0.

_12
<3
xX—4 "
LCD is positive.

124(x 4) < 3(x— 4)
12 <3x—-12
24 < 3x
Xz 8;
x—4>0
x>4

The solution in this case
is x = 8.

LCD is negative.

124(x 4) > 3(x — 4)
12 >3x - 12
24 = 3x
X< 8;
x—4<0
x<4

The solution in this case
is x < 4.

The solution to the inequality is x < 4 or x = 8.

10

X+ 8

LLCD is positive.

10

Vi 8(x+ 8) > 2(x + 8)
10 > 2x+ 16
—6 > 2x
X< =3

x+8>0

x> -8
The solution in this case
is -8 < x< =3.

1_10
4+X_2x 10
1 - 10
4(2x) + ')?(ZX) = 2X(2X)
8x+2=10
8x=8
x=1

20. 2 =

LCD is negative.
10
8) <2 8
X+8(x+ } < 2(x + 8)
10<2x+ 16

—6 < 2x
x> =3

x+8<0
x< —8
No solution in this case.

q:}\ The solution to the inequality is —8 < x < —3.

/PRACTICE AND PROBLEM SOLVING

n—3
4 n—4
5(n—4)=4(n-23)
5n—20=4n—-12
n=28
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1 i 3_x
21, —— = 22, - =2 X
1. 3(3 } s
=3a-7 1 _3 _X
i x(40) = S4x) =2 {(4x)
3 4-3x=
22 _ 4 P +3x—4=0
3 (x—1}x+4)=0
x=1orx=—-4
14
23 S=9-7

3—}(2)=9(2)—2(2)
14 =97z —
A -9z+14=0
(z=2Kz—=-7=0
z=20rz=7
4
T=4
x(x)+—f—1v-(x)=4(x)
x2+4=4x
X —a4x+4=0
(x—22=0
x—-2=0
x=2

24 x+

4x X 12
25. x;3+2_x—3
X X 12

(X__ 3)2()(— 3) + (5)2(;(- 3) = (m-)2(x— 3)
8x+ x{x — 3) =24
3P L Bx—24 =0
(x—3)x+8 =0
Xx=830rx=-8

The solution x = 3 is extraneous,

The only solution is x = —8.

26. 3x_ _ 2x—1
X+ 1 x+1
3x _2x—-1
x+1(x+1)_ x+1 (x+1)
Ax=2x—-1
Xx=-=1

The solution x = —1 Is extraneous.
Therefore there is no solution.

2 2
ooy = 35S
2 - 2
(x(x—“”—)x(x— 1) = 1{x(x - 1))+(X_ 1)x(x—1)
2=xx—1)+2x
¥ +x—2=0

(x—1}x+2)=0
X=T1lorx=-2
The solution x = 1 is extraneous.
The only solution is x = —2.

4. 22(550 — v) = 17(550 + V)
12100 — 22v = 9350 + 17v
2750 = 39v
1=y
The average speed of the wind is about 71 mi/h.
This is close to 70 mi/h. The plane travels about
22(550 — 70), or 10,560, mi on the flight to Bombay
and about 22(550 + 70}, or 10,540, mi on the
flight to Los Angeles. Because the distances are
approximately equal, the answer is reasonable.

311

1 1 —
o 5(1.8) +-1.5) = 1
%(1.5)(2!1) + lh(1 5)(2h = 1(2h)

1.5h+3=2h
3=0.5h
6=~h

It would take the apprentice 6 h.

}6.0<x<1 M. x=-3

K.Y & [ 4y
‘1‘ ] o
ML » A .
- 2 — > 5 >
o —k :
=T~ 0 x _ [ X
A o
\
A‘ 4
-1* y i
.’;g'.Osx<5
el A
4 N
MENERN X
4 \
\
g I
hd

1

% 3x <2
LCD is positive.
1
3X(SX) < 2(3x)

LCD is negative.
1

e 2
3X(Sx) > 2(3x)

1< 6x 1> 6x
1 1
X > X X< 5
3x>0 Ix<0
x>0 x<0
The solution in this case  The soluticn in this case
. 1 isx< (.
is x> —.
6

The solution to the inequality is x< Qor x> %

g
%. =6
LCD is positive. LCD is negative,
x— 4) 2 —B(x — 4) —Z(x— &) < —6(x— 4)

x—4 X —

9> —6x+ 24 8 < —-6Bx+24

6x=15 6x=<15

X = 2.5 x =25,

X—4>0
xX>4

The solution in this case  The solution in this case
isx>4. is x=<2.5.
The solution to the inequality is x < 2.5 or x > 4,

X—4<0
x< 4

Holt McDougal Algehra 2



36. >3
7 x+10
LCD is positive. LCD is negative.
9 9
s 1O(x+ 10) > 3(x + 10)X+10(x+ 10) < 3(x + 10)
9 > 3x+ 30 9 <3x+30
—21 > 3x —21 < 3x
X <=7 X> =T,
Xx+10>0 x+10<0
x> —10 x<—-10

3pa. P< 2w+ 2(
b. No; substituting 400 for P in the inequality results

¥a.

PA

39.

40.

41.

42,

9

The solution in this case is No solution in this case.

—-10< x< -7,

The solution to the inequality is —=10 < x < —7.

17,000
w

in nonreal values of w.

2003
b. Possible answer:
“ a2+ hn 1
156 + h= 241 + 0.5h
0.5h =85

h=170

170 hits; He had 326 more at bats than hits, and
this will stay constant with each hit. He would need
to reach a total of 326 hits from 156 hits, so the

answer is reasonable.
15n 5
bl - LD
n—-3 n-—3

A5 L ay
n—3(n 3)

n—23

23n =29

6 +4x—1=0

—4 +1/4% — 4(6)(=1)

] or equivalent inequality

188 + h _
156+ h 05 ©643+h 614

{n — 3) — 8(n— 3)

15n=5—-8(n—-3)
15n=5—-8n+ 24

191, 48 hits

-2+ V10

2(6)

B(x—1)—3(x—1)=6x
5x —5=06x

2(x+4) _ 3x

x—4  x—4
2(x+ 4) = 3x
2x+ 8 =3x
X=8

6

6
— 1

=(X

)x{x— 1)

X=-5

1 4 7
At =
1 2 4 2 7 2
1)+ ———a"-1)= as= 1
pla? - 1) et - 1) =T (e - )
(a+1)+4a—1)=7
5a—3=7
5a=10
a=2
aa 6.5
4. = > >
LCD is positive. LCD is negative.
6 5 6 5
== E(f) = E(f)
6 =25r 6 <25br
r<2.4; r=24,
The solution in this case No solution in this case.
is0<r=<24.
The solution to the inequality is 0 < r< 2.4.
\ »
K55 i
’ X+ 1 #
LCD is positive. LCD is negative.
8 8
1 4 1 1) <4{x+1
x> A1) e ) <A )
8>4x+ 4 8<dx+ 4
4 >4x 4 < 4x
x<1; x>1;
Xx+1>0 xX+1<0
x> —1 x< =1
The solution in this case No solution in this case.
is—1<x<1.
The solution to the inequality is —1 < x < 1.
L it
3. x= %
LCD is positive. LCD is negative.
XX 2 H) XX < 30
X =4 <4
X< -20rx=2; —2<Xx<2;
The solution in this case  The solution in this case
isx=2. is —2 < x<0.
The solution to the inequality is -2 < x < O or
Xz 2:
E‘i +0.45 , +1.27
1.7 _
?l-é 0,2 v + 'E = 2)
1. &
X~ 2
__2
X="3

500.
500
s+ 25

%. 2001 winner:
2002 winner:

312
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CHALLENGE AND EXTEND
b. Possible answer: —209_ 4 32 _ 500.
s+25 60 S 5y, 4% 7x
500s(s + 25)  8s(s + 25) 500s(s + 25) X +x—6 X —5x—24
T T s 4x(x = 2)(x + 3)(x— 8) _ 7xX(x—2)(x + 3)(x~ 8)
75008 + 88(s + 25) = 7500(s + 25) U N
A (,) 2 4x(x —8) =7x(x —2)
8s® + 200s — 187500 = 0 1 ’%/} 3% +18x=0
—200 + \/ 2002 — 4(8)(—187500) {f?@, x(x+6)=0
= =0o0orx+6=0
2(8) x
s~ 141 or —166 xe= orxs =h
~_ The average speed of the 2001 winner is 141 mi/h. g, 1= 4x~ ' + 3x7° _x—1
.Sé depending on the values of a, b, and ¢, either 2, 1, ' 1— 9x~2 X+ 3
or0 (1 —3x*1)(1 —x“1) _x=1
‘ljé Multiply each term by the LCD, 5x. (1 _ 3x'1)(1 2 3x‘1) T x+3
Divide out common factors, to get 3x° = 15 — 30x. (1 _ X_1) 3
Simplify, to get x + 10x — 5 = 0. =213
Use the quadratic formula to solve for x (1+8x7)
-1
x=—5+ /30, 1—x" (xy_x=1
1 +3x_1kx) X+ 3
TEST PREP x=1_x—=1
540 A; x+3 x+3
g 3 6 all real numbers except —3, 0, and 3.
& X+3 x 3x 2
(lX(X+3)+ 3 xix+3) = g)x(x+3) /Q:'x+2_x+427
X X+ 3 TAX o
(X + 3) + 8x = 6(x+ 3) LCD is positive.
Ax +3=6x+ 18 3x(x + 2)(x + 4) _ 2(x+ 2)(x + 4) > 700+ 2)0x+ 4)
—156 =2x X+ 2 X+ 4
15 _ 3x(x+4) — 2(x+2) = 7(x + 2)(x + 4)
_ o T 4x° +32x+60<0
%é. G; 4x+3)(x+5) =<0
\x+2_l= 4 X+3<0andx+5 =0
Xx—4 X ,2_4 -5=2x<-3
x+2(X2 ) 1(X ) 4 ( (x+2)(x+4)>0
X—4 _4X_7X2_4X=X2_4XX2_4X) x+2>0andx+4>0
Xx+2)—(x—4)=4 X>-20rx< —4
X +x=0 The solution in this case is —5 < x < —4,
X(x+1) =0 LCD is negative.
x=0o0rx+1=0 SX(X-:?(ZX-FM = 2(X+x2_i(:+4) S 7(x+2)(x+4)
o= D=1 3X(X + 4) — 2(x + 2) < T(x + 2)(x + 4)
The solution x = 0 is extraneous. 2
The only solution is x = —1. 44()(1%?&"_‘1_65(:; i (0}
56. B X+3>0andx+5 >0
5}3. Possible answer: L(?’) + 1—(7‘) == x=-3orx< -5
\ 15 h (x+2)(x+4)<0
b. 11—5(7)(15h)+lh(7)(15h)= 1(15h) X+2<0a”d::ii*02
7h + 105 = 15h The solution in this case is —3 < x < —2.
105 = 8h The solution to the inequality is —5 < x < —4 or
ek —3<x< -2
It would take about 13 h to fill the tank. - '
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6 X
=45
x—3>4+

LCD is positive.
(X 6 )4(x -3)> (f)at(x— 3) + (5)4(x — 3)

-3
24 > x(x — 3) + 20(x — 3)
X +17x -84 <0
(x—4)(x+21)<0
x—4<0andx+21>0 0 T 5 . 6 B I . A
21 < x<4; -~

61.

x=8 30 et G )
e READY TO GO ON? PAGE 609, ) 4% \-ﬁ—-\l) \% -1
The solution in this case is 3 < x < 4. m m
LCD is negative. 1 —1-_2
6 X V1 V2
( )4(x_ 3) < (—)4(x —3) + (5)4(x — 3) 87  m
S % 1000 ~ 4500
24 < x(x — 3) + 20(x - 3) 1000m = 8.7(4500)
X +17x—84>0 m=39.15
x=4)x+21)>0 The mass of the statue is 39.15 kg.
X—4>0andx+21>0 "
x>4orx<—21; 2.!:3
x—3<0 k
x<3 & =6
The solution in this case is x < —21, k=36
The solution to the inequality is x < —21 or fadl B0 . &
3<x<4. n

It will take 10 workers 3.6 h to clean the rides.
62. Let h be the number of hours needed for Marcus

to paint the barn individually, then 2A will be the 3. B a. X —2x-3
number of hours needed for Will. 10%° + 5x X +5x+4
1 1 1 x° (x=3)x+1)
—(6) + 5-(6) == X _ Ty
; h ; 2h ? 5x(2x + 1) (x+ 4)(x+1)
—(6)(2h) + -(6)(2h) = (2h) L. X3,
h 2h 3 T Xt 4
12+6=%h - Landx40 x# —4and x # —1
x# ——and x
h=27 2 s .
V.1 2.1 g —X+6 g. X+3 2x—4
1l === " .
( 3) TRa Al X —3x—18 X+2 ¥ _g
It will take Marcus 18 additional hours to complete. —(x = B) x+3 _ 2x-2)
(x —6)(x+ 3) x+2 (x+3)(x—23)
SPIRAL REVIEW X—+13; X —Band x4 6 2(x — 2)
63. 4(4 + X) — L(4)(¥) (x+2)x=3)
2 6
16 + 4x — 2x 7 XY . x g 23 —18x . X +x—12
2x + 16 ‘ 275°)° 6y ¥ —2x-8  xX*-16
4 — —
ol . X8 22 -9 (x+4x—4)
64, =22 65. —2— ah X x—4)(x+2)  (x+4)(x—3)
V8 w7 ¥ 2x(X + 3)(x — 3)
2x y X d
-3V3(v2 5 (V7 rl x—4)(x+2) x—3
V8 \V2 wNT\NT 2x(x + 3)
-3V6 5V7 X+ 2
V16 4(7)
—3V6 5V7
4 28
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3x+2 x+5 £ —x 3
. X =2 X 2 10. . 25+X+5
3x+2-(x+5) Lmx 3 {x—S)
x—2 —
=355 P _o5 X+5\x—5
X D" X — X+ 3(x — 5)
(x + 5)(x—5)
£ +2x—15
(x + B){x — 5)
(x + 5)(x — 3)
(x + 5){x — 5}
x—3 _
= sx% Sandx#5
x __1
11'x—3 x+3
X .(x+3)_ i (x—3
x—3\x+3] x+3\x—3
xx+3)—-(x—3)
X{ZX—S)(X+3)
+2x+ 3
T xz —3Jand x# 3
{x—3)x+ 3 # #
%L _d
550 © 430
2d(23650)
_d_ d
550(23650) 535123650)
473004
43d+d55d
47300d __
T

The average speed for the entire trip is 483 mi/h.
M gis ftranslated 4 units K gis ftranslated 1 unit

right. left and 2 units up.
W1 A Aty
M \ 1
N \ 1
Y | o g N
hi — ¥ T
TP MW AL X
4 i
Y h. 4 L
15, zeros: 4, —4; 16. zero: 0;
vertical asymptote: vertical asymptotes:
x=3 X= 2, x=2,
T K74k horizontal asymptote:
Fa : y= 0
i 4 LRV
y GEIV | |
Ot TN
) D T e h ‘-.*
RN e “\\ ) X
# 1 =TTy
A
L 'EE.]

- 10 _
17. y v 3
Y = TH9 =307
y' = 10=23y
¥ —3y—-10=0
(y-5)y+2)=
y—5=00ry+2=0
y=58ory=-2
X _24-2x
18 e %= 824 2
X
P 8(x 8)y=—""=~(x—8)
X = 24 2x
x=28

The solution x = 8 is extraneous.
Therefore there is no solution.

19, =3x _x+15 _ 4

3 x+9
—3X(x+9) X+15(x+9).~1(x+9)
—x{x+9) (x+15)—x+9

X —11x—24=0

—{x+3){x+8)=0
x+3=00rx4+8=0

X==30rx=-8

\2(1(3+ Ly =1

4(3)(4h) + h(S)(4h) = 1(4h)
3h+ 12 =4h
h=12
It would take the small oven 12 hours to bake
the bread.

8-6 RADICAL EXPRESSIONS AND
RATIONAL EXPONENTS,
PAGES 610—617

CHECKIT QUT!
1a. no real roots b. +1
c.5
B
2a. V16x* b. “X?
Hnd 4
42 ): 4x4-x4
2t - VA i3
2% S1 M
2x° X - VX
V3

-
-
.

3 o g
$
%
$

s
=5
b5

Y
20
-

>,
¥

w
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D.W38, 5,9, \-3%, Y0-50

3

5. n=ka 17_gﬂxi_1l._’f._"'_3, 18_X_5:+L
180 = k(20) Pt axy* 8y
9=k Bx+1)Bx—-1) x+3 £ 8
n=9a=9(34) = 306 (x+3)(x—3) 3x+1 P
The number of tiles needed is 306. -(-34‘2-_-51— ox
y X - =L
}( | = kPr y
264 = k(1100)(0.12) i X +2x—15 . ¥ -9
2=k Sy -
I =2Pr (x+5)(x—23) 2(x — 2)
360 = 2P(0.09) x—2 (x+3)(x-3)
360 = 0.18P 2(x+5)
2000 = P X+ 3
The principle Pis $2000.
prineR 3 00, 3x=21 . X - 49
B> SRV O
3(x—7) x(x + 7)
E 3x  (x=7x+7)
| X—=7 ., _X
ook X x—-7
‘ 1
HNT g1 Xt 4X+3 ., 3x+3
- #tax—8 X-2
LB L (X+1)(x+8) x_2
g r=K (x+4)(x—2) 3(x+1)
F;?( X+ 3
= — 3(x 4
8=15 e+ 4)
120 = k
;120 LESSON 8-3
R
5= 120 22.L+m - T B
R L+4 44 x+3 x-3
g 4+ +8 1 (x=3 1 (x+3)
The resistance R is 24 ohms. ‘—';2““—“““ X+ 3\x— 3 X — 3\x +3
.i(minversevariation 2 e X=D %y S
; )(2;12 (x + 3)(x — 3)
+ 4 2x i +
LESSON 8-2 rax—a 7
1
14 3 - S
11, 24X 12, 8% P-4 X2
9x' 3X+312 % 1 [x+2
24 L 14-16 __6x” (x+2)(x—2)  x—2\x+2
89 5 3(X§l-4) X+x+2
=x" 2x" . " (x+2)(x —2)
% P L 2x+ 2
— X#0 (x+2)(x=2)
3%°
2(x+ 1)
— T ] o x# 42
15 Xy x—12 44, X5  9x+3 (X +2)(x—2)
X 4 By 3x+1 2 _ o5 o5, 2X=38 6
(x + 4)(x = 3) x+5 _3(Bx+1) "Bx+ 7 Ax—1
(X+4)(x+ 1) 3x+1 (x+5)(x~5) 2x—34x—1\ _6 (3x+7
a8, 3 3x+7\4x—1/" 4x—1\3x+7
X+ 1 x—5 (2x — 3)(4x—1) + 6(3x+ 7)
x+# —4and x # —1 (Bx + 7)(dx — 1)
D ¥ 4+2x=3 x=2 8x° + 4x + 45 7 1
15. —=X i 16. . — - T = xz+ ——and x#* —
X—4 2 .x 6 P _x—9 X+3 (B8x+ 7)(dx—1) d 3 ¢4
x_,_~x-2 X —1) x—2 26. % — 9= (x+ 3)(x— 3)
X=4_[x+3x—-2)  (-Bx+1) x+3 = 6x+9 = (x—3)°
procen Mg X —
(x = 4)(x + 3) X+ 1 The LCD is (x + 3)(x — 8)°.

Holt McDougal Algebra 2



27.

28.

30.

31.

32.

X* +2x—35=(x+ 7)(x — 5)
X Ox+ 14 = (X + )X + 2)
The LCDis (x — 5){x + 2)(x + 7).

2x 3 og. X ___5
X+4 x+4 T x+5 x-5
2x—3.,., _ [x~5 5 {x+5
» 4 X .
xrd X7 x+5\x—5) x—5\x+5)
X(x — 5) — B{x + 5)
{x 4 5){x ~ 5)
X —10x—25.
—(x+5)(x—5)'x%i5
1 . {
X¥—x—6 X+2
i __x [x-38
(X—3)(x+2) x+2ix—3
1—x(x—3)
(x/\;S)(x+2)
=X"4+3x4+1, _
(X-—S)(X+2)'X¢ 2and x# 3
_2x __ 7
2x+1 3x—1
2x {3x-1)__ 7 [2x+1
2x+1\8x—1) 8x—1\2x+1
2x(8x — 1) — 7(2x + 1)
(@x — 1)(2x + 1)
6 —16x—7 ., 1 1
xt NEx— 1) T Tz ANdXFy
x—6 X3
5 3x
X+ 2 38 X — 9
8 —
X—G_:_x+2 XEE:BQXZ—Q
XEG 88 3x  6x-—9
5 " x+2 x+3, _3@x—9
8(x - 6) zix 3(x-|-3)(x—3)
o
4 X
34 X+ 2
x=2
X 1
(I) x(x—z)—(;)afx(x—z)
(%;')4)(()(—“2)
Plx—2) — 4{x — 2)
4x(x + 2)
(2 — a)x - 2)
4x(x + 2)
(X + 2}{x — 2}{x - 2)
4x{x + 2)
(x — 2)?
4x

332

K

520 T 580
20{15080)
—2_(15080) + —2-(15080)
520 580
30160d :
29d + d26d
30160d
550 "ot
The jet's average speed is about 548 mi/h,
LESSON 8-4
}({ gis ftranslated 4 units 3%. gis ftranslated 2 units
right. right and 3 units up.
LY LY RYIE,
; \ - \
g ] 4
- — X - .
2 \ (VN
W =210l |1
.4
9(. asymptotes: x= 1, y= =3;
Di{x]x# 1L Ri{y|y+ -3}
‘93’. asymptotes: x= -2, y=1;
D:{x|x# —2 Ri{y |y # 1}
40, zeros: Q, 3; 41, zero: 3;
asymptote: x = —4 asymptotes: x = —5,
My - x==1,y=0
T A
1 _‘/ :
< N i =0 X
B L ) =TT >
1B} A
gl :
! K
W
42. zero: 2; 43, zeros: -3, 3;
asymptotes: x = -3, asymptote: x = 2
y=2 AR TA
[ATAT 4y ﬁy / pd
/ i P . y
] : ¥ - I
* 4 1] x
‘17 P S ; 0 -rX = ATl ]f
Ly JANMM
f ¥ W
Y
44, hole at x = —3
1Y |
i |
X
—8 1410 ~
Hole ati X
X=-3
12
Holt McDougal Alge

bra 2




LESSON 8-5 LESS N/B-B
6
45. x— - =1
X 51. Vopxl > 52. V/81x'2
v ;Y(X}z v V3 3.2 40 V4 gttt xt
X2 X— 2 =)D( 3[_33 ) :s/_XS . 3,1_X3 43 . 4.'_X4 . ”_)(4 . 4,r'—‘X4
—_— — — 3
(x—3)(x+2)=0 3 3x
x=30rx=-2 3[gx® 2
SX _27)3
46, _4x__BX+5 53. 3 54. (—27)
'x4—5 )(—53'%5 /o3, 3
X X Ne 2 X7
-5 5
e il v L 73
4x = 3x+ 5 3 4,3
x=5 2 3- X
The solution x = 5 is extraneous. £
Therefore there is no solution. ‘32_"
47, 38X __2x+2 V3 3 3
"x+2 x+2 2x V3 V3
8X (x4 2)= 2X+ 200 o) V3 Y3 {3
X+ 2 X+ 2 2,\’\3/-9_
3x=2x+2
x=2 3
3
48, —X X _ _2x 3 3
R 55. 164 56. 92
X _ 2x 1 2 1
(iajptes 4+ (Zlatc+4 _(2(x+ 7P+ 4 | 57.475.178 s6. (0°)2
1.2 gl
2X+§§;Ij§=0 173 %3 9*'2
— 1 _ 2
x=0o0rx= -4 171 117 4 ol
The solution x = —4 is extraneous. 59. (ﬁ)4
The only solution is x = 0. -
X+ 4 et
49, = > -2 16
xis positive. xis negative. Vil
(X+4)x> —2(x) (X+4)x<—~2() /16
X+ 4 >-2x X+ 4 < —-2x %
3x > -4 3x< —4
4 4
B g Xe—g LESSON 8-7
The solution in this case  The solution in this case 60. D: {x| x = O}; 61. D: R;
is x> 0. TP 1 R:{yly=5} R:R
The solution to the inequality is x < —% orx>0. g — ' '
-
2 |
50. f
0 o <4 ‘;
X — 3 is positive. X — 3 is negative. I
fs(x—3)<4(x—3) 23(x—3)>4(x—3) 7-
2<4x—12 Dsdyis 19 62. gis freflected across  63. his fcompressed
14 < 4x 14 > 4x the x-axis and horizontally by a factor
N ) T transiated 1 unit up.
2 2 J|1y|1_:!i=~;
Xx—3>0 x—-3<0 T .
x>3 X< 3 f - et e ?
The solution in this case The solution in this case ! i
i 7 is x < 3. * |
- : 1
is x> 2 | 3
The solution to the inequality is x < 3 or x > %
3 ‘ W
SToP vere ! O
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